The Exponential Function
Rule:
y = a(c)x
a = the initial amount

c = base
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x = exponent

You can also view the rule as (
1 – Determining values ( plug in x values

· Start with 1, then 2, then 3, etc.

a) y = 5 (2)x


b) y = 0.5 (3)x

c) y = 4 (½)x
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About the graph…

· negative “a” value will flip the graph about the x-axis (upside down)

· base “c” values that are between 0 and 1 will flip the graph about the y-axis (backward) – these usually represent a decreasing amount

2. Determining the rule

a) y-intercept is the starting value (a)


a) To find “c”, use a given point on the graph and plug it into the rule.

Example:   Given A (4, 4)

Y = a(c)x
4 = 0.25(c)4
4 = 0.25(c)4
16 = c4    take the “fourth” root
4√16 = c
C = 2

Final rule ... y = 0.25(2)x
Word Problems with Exponential Function

Y = a (c) x
Y = start (change) time
What is the “c” value if the change is....

Doubling?

C= 2


Tripling?

C = 3

Quadrupling?

C = 4

Sometimes the change is given as a percent...

Use the rule:

y = a (1± [image: image3.png]percent
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+ when the initial amount is increasing

· When the initial amount is decreasing

Examples:

1. Each year the frog population of a small wooded area declines by 5% in contrast to the previous year. If this wooded area how has 2000 frogs, how many frogs will be present in 10 years from now?
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y = 2000 (1 – 0.05)10
y = 2000 (0.95)10
y = 2000 (0.5987)

y = 1197.4

2. Among the options available to finance a purchase, credit cards are the ones that have the highest interest rates. If Diane makes a purchase worth $1200 with a credit card that has an interest rate of 1.5% each month, how much will she pay in interest if she can only clear her card a year later?
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y = 1200 (1 + 0.015)12

y = 1200 (1.015)12

y = 1200 (1.19)

y = $1434.74

y = start(change)time





Y-intercept is ¼ P (0, ¼)


Y = ¼ 4(c)x


Or y = 0.25(c)x
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